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134 1)

o péhog = (2npo+ 301)\/0))2 +(3nue - 201)\/0))2 =
=Mpo+ W +90vvim + 9nu2m—w +4ovvio =13np’o +13cuvio =
=13(1‘|u2c0+cn)v203) =13-1=13=
=" péhog
134 2)

o' pghog = (Muo + cmva))2 +(Nuo— cmvm)2 =
=Nu’o + 21U - GUVO + GLV D + N2 — 2MUO - GUVO + GUV D =
= 2(nu2(x)+c51)v2co) =2-1=2=

=P’ uéhog
134 3)
o' péhog = (3nuo + 4c5vva))2 +(4npw - 301)\/0))2 =

= Inp’m + 24npo - suve + 166vvim + 16npe — 24num - cuvVe + 9ovvio =
= 9(nu2m+0Uv2c0)+16(nu203+01)v2(0) =9.1+16-1=25=

=B’ péhog
134 4)

o' péhog = (Muo + vaoa)z —(Npw —cmvco)2 =
=NEo + 2NUe - GLYVO + LV D — NP’ + 2NUO - GLVE — GV M =
=4nuw-cuve =
=P’ puéhog
13.4 5)
roor 2 2
o' pErog = (xouve + yNue)” +(xnpm — yoove)” =

= X*cuv’® + 2Xyouve - N + y NI’ + X Nio — 2Xynue - 6uve + y*covio =
=X (TIH260+G’UVZQ))+y2 (n“20)+0"UV260) =x* 1+y* - 1=x"+y* =

=B uérog



